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| Part II 3-Tier

| |  COST ACCOUNTING
- PAPER—XIV
{Honours)

" Full Marks : 100
‘ i
l 0
' The figures in the right-hand margin indicate full marks.
| : .

Timme : 3 Hours

) iCr:tmiid'ate:s'are required to give their answers in their
. own words as far as practicable. '
Miustrate the answers wherever neéessa_ry.

\

R

1. | Answey any five questions‘ : - 5x4
| : 7

. {a} Dis

(b) Distinguish between 'Apportionmgnt' and 'Allocation

of Overheads'. -

tinguish between 'Cost Centre' and 'Cost Unit'".

. {c) Define 'marginal cost' and 'marginal costing'.

{d) Discuss the features of contract costing.
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(e) How can idle time be controlied?

(ff Out of LIFO and FIFO which method would you

recommend for pricing of stores and why?

(g} “‘Cost Accounting’is said to be one of the very useful
tools in the management of increasing productivity”

— Discuss,

{h) Classify cost according to element with examples in

each case.
(i) Mention the uses of standard costing.

) What is Integral Accounting? Mention its major

benifits.

2. Answer any five questions : 5x8
(a) Distinguish between job costing and contact costing,

(t) What are the advantages and disadvantages of
centralised storage ?

(c) Mention the steps to be followed to install an effective
costing system in a large manufacturing Company.

{d) A company ‘s considering a1 reduction in the price of
tis product Ly 10% becauz# it is felt that such a step
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| may lead to a greater volume of sales. It is anticipated
‘that there will be no change in total fixed cost or
| variable cost per unit. The Directors wish to maintain

profit at the present level.

Your are given the following information :
Sales (15,000 units) Rs. 3,00,00
Variable Cost per unit - Rs. 13

' Fixed Costs Rs. 60,000

Calculate : {i) P/V Ratio and (ii) The amount of sales
required to maintain profit at the present level after
\ reduction of selling price by .10%.

‘(e) Excel Ltd. manufactures a product having a monthly

demand of 2000 units. For one unit of finished
! product, 2 kg of a particular raw material item is
needed. The‘purchase price of the material is Rs. 20
per kg. The ordering cost is Rs. 120 per order and the
holding cost is 10% p.a. Calculate :

i} Economic order quantity.

ii) Annual cost of purchase and storage of raw
: material at that quantity.
: .
‘ @ The ' standard time of Job-M is 100 hours. The job has
been completed by Raj in 60 hours, Rahan in. 80 hours
and Rik in 95 hours.

¢/18/B.Com./Part-1I{H)/3T(0)/ 14 {Turn Jews]



4

The bonus system applicable to the job is as follows:'

% of time saved to time_ allowed : __B_ggli_s_
Saving up to 10% 10% of time saved
From 11% to 20% 15% of time saved
From 21% to 40% 20% of time saved
From 41% to 100% 25-% of time save_d‘

The rate of pay is Re. 1 per hour. Calculate the total
earnings of each worker and aleo the rate of carnings

per hour.

(2) A company has three production departments and two
service departments. Distribution summary of

overheads is as follows :
Production Departments :
A : Rs. 13,600
B : Rs. 14,700
C : Rs. 12,800
" Service Departments :
X Rs. 9,000
" Y : Rs. 3,000

The expenses of service departments are 'chérged on

a percentage basis which is as follows :
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| A B € X Y
3 :

" X Dept. 40% 30% 20% - 10%
" Y Dept. © 30% 30% 20% 20% -

| Apportion the expenses of Service Departments by
1 using the Repeated distribution method.

{b) From the following transactions extracted from the
|[ books of accounts of & manufacturing concern as on
' 31.12.2010, work out : (i) Consumption value of raw
materials-in the month of Decembexj 2010; (b) value
| of closing stock as on 31,12.2010 under the FIFO
! method of princing material issucs.
Quantity  Rate per
(in units) unit (Rs.)

2010
‘l Dec. 1 Opening Stock 300 9.70
. . 3 Purchases 250  9.80
| - 11 Issues 400 -
| 15 Purchases 300 10.05
i‘. 20 Issues 210 -
‘ 25 Purchases 150 10.30
29 Issues | ' 160 -
{Turn Over)
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(i} What is Job order Costing? Discuss its advantages
and disadvantages. (2+3+3)

() What are the factors to be considered for dertermining

the different levels of stock of material? 8

3. Answer any two questions : ' 2x15

(8) Standard Labour Hours and Rate for production of one
unit of Article X is given below :

Hours Rate per Total
hour (Rs.) (Rs.)

Skilled worker

5 1.50 7.50
Unskilled worker 8 0.50 4.00
Semi-Skilled worker 4 0.75 3.00
17 14,50

Actual data : Production (1000 units)

Hours Rater per Total
worked hour {Rs.) (Rs.)

Skilled worker 4500 Hours 2.00 9000
Unskilled worker 10000 Hours 045 4500
Semi-skilled worker 4200 Hours 0.75 3150

18700 hours 16650

Calculate labour variances.
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A product passed tht:ough two distinct processes A and

- B. Make out the necessary accounts from the

. following details :

Process A (Rs.) Process B (Rs.)

Material Cost 30000 - 3000
Labour Cost ' 10000 ' 12000
Production overheads 7000 8600
Input | 20000 units 17500 units
Norm-al loss | ' ‘ 10% - 4%
Scrap value of Re. 1 Rs.2

normal loss

There was no opening or closing work-in-progress.

MC Ltd. entered a contract to construct a building.
The contract value is Rs. 6,50,000 to be realised in
instalments “6n" the basis of the' value of work
Certified by the architect subject to a retention of
10%. The work commenced on 1.4.2011 but it
remained incomplete on 31.12.2011 when the final
accounts are to be prepared. The facts and figures of
the contract are : Plant charged to contract at the
commencement — Rs. 32,000; Materials charged to
contract — Rs. 1,80,000, Wages paid - Rs. 47,804,
Expenses incurred on the contract - Rs. 38,750,
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. Total establishment expenses amounted to Rs. 41,000
out of which 25% is attributable to this contract. Out
of the materials issued to the 'contract, material
costing Ré. 4,000 were sold for Rs. 5,000. A part of the
plant {Cost Rs. 2,000) was damaged on 1.10.2011 and
the scrap realised Rs. 300 only. Plant costing Rs.
3,000 was used for another contract on 31.12.2011.

Plant is to be depreciated @ 10% p.a.; Materials in
handon 31.12.2011 - Rs. 17 ,500£ Cash received from
the contractee — Rs. 3,06,000; Cast of work yet to be
certified - Rs. 30,000.

Prepare a Contract Account showing therein the
amount of profit or loss to be transferred to Profit &
Loss A/c.

(d) Write short notes (any three) : | 3x5
i) Inter-Process Profit
ii) Overtime Premium

iii) Opportuﬁity Cost

iv) Purpose of Cost Accounting

[Internal Assessment - 10 Marks]
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(9) A company is considering a reduction in the price
of tis product by 10% because it is felt that such
a step may lead to a greater volume (;i‘"sales. It is
anticipated that there will be no change in total
fixed cost or variable cost per unit. The Directors

wish to maintain profit at the present level.

Your are given the following information :
Sales {15,000 units) Rs. 3,00,00
Variable Cost per unit Rs, 13
Fixed Costs Rs. 60,000
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| Calculate : (i) P/V Ratio and (i) The amount of sales
required to maintain profit at the present level after

reduction of selling price by 10%.

(;@) Excel Ltd. manufactures a product having a
" monthly demand of 2000 units. For one unit of
: finished product, 2 kg of a particular raw material

item is needed. The purchase price of the material
: is Rs. 20 per kg. The ordering cost is Rs. 120 per

,‘ order and the holding cost is 10% p.a. Calculate :

i) Economic order quantity.
ii) Annual cost of purchase and storage of raw
material at that quantity.

| ,
() The standard time of Job-M is 100 hours. The job
' has been completed by Raj in 60 hours, Rahan in

l 80 hours and Rik in 95 hours.

The bonus system applicable to the job is as follows:

% of time saved to time allowed Bonus

: Saving up to 10% 10% of time saved

! From 11% to 20%
From 21% to 40%
From 41% to 100%

15% of time saved

20% of time saved

25% of time saved
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The rate of pay is Re. 1 per hour. Calculate the total
earnings of each worker and also the rate of earnings
per hour..

(®) A company has three production departments and
two service departments. Distribution summary of
overheads is as follows :

" Production Departments :
A : Rs. 13,600
B : Rs. 14,700
C : Rs. 12,800
Service Departments :
X : Rs. 9,000
Y : Rs. 3,000

The expenses of service departments are charged on
a percentage basis which is as follows :

A B c X Y
X Dept. 40% 30% 20% - 10%
Y Dept. 30% 30% 20% 20% -

Apportion the expenses of Service Departments by
using the Repeated distribution method.
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(®) .F'rom the following transactions extracted from the
[

~ books of accounts of a manufacturing concern as
on 31.12.20 10, work out : (i) Consumption value of

| raw materials in the month of December 2010; (b)
" value of closihg stock as on 31.12.2010 under the

FIFO method of princing material issues.

ngntit_f Rate per
| (in units) unit (Rs.)

2010
Dec. 1 Opening Stock 300 9.70
3‘ Purchases 250 9.80
| 11 Issues 400 -
| 15 Purchases - 300 10.05
-20 Issues 210 -
L 25 Purchases 150. © 10.30

‘_ ‘ 29 . Issues ‘ 100 -
(?:I)E | i sifdgw Ry ﬂﬁf%mam? w3 4T wqﬁmﬁ
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(%) Standard Labour Hours and Rate for production of
one unit of Article X is given below :

Hours Rate per Total
hour (Rs.} (Rs.)

Skilled worker S 1.50 7.50
Unskilled worker 8 0.50 4.00
Semi-Skilled worker 4 0.75 3.00

17 14.50

Actual data : Production (1000 units)

Hours Rater per Total
worked hour (Rs.) (Rs))

Skilled worker 4500 Hours 2.00 9000
Unskilled worker IQOOO Hours 0.45 4500
Serni-skilled worker 4200 Hours 0.75 3150

18700 hours 16650

Calculate labour variances,

(%) A product passed through two distinct processes A and

B. Make out the necessary accounts from the
following details :
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Process A (Rs.) Process B (Rs.)

 Material Cost - 30000 3000
' Labour Cost 10000 12000
; Production overheads 7000 8600
" Input 20000 units 17500 units
Normal loss ' 10% 4%
' Scrap value of ' Re. 1 Rs.2

. normal lpss

" There was no opening or closing work-in-progress.

C) MC Ltd. entered a contract to construct a building.
The contract value is Rs. 6,50,000 to be realised in
instalments on the basis of the value of work
Certified by the architect subject to a retention of
| 10%. The work commenced on 1.4.2011 but it
remained incomplete on 31.12.2011 when the fmal
| accounts are to be prepared. The facts and figures of

the contract are : Plant charged to contract at the
|  commencement — Rs. 32,000; Materials charged to
' contract — Rs. 1,80,000, Wages paid - Rs. 87,000
. Expenses incurred on the contract - Rs. 38,750.

Total establishment expenses amounted to Rs. 41,000
out of whicgi, 25% is a-tributable to this contract, Qut
of the mat:rials isgsued to the contract, material
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costing Rs. 4,000 were sold for Rs. 5,000. A part of the:
plant (Cost Rs. 2,000) was damaged on 1.10.2011 and
the scrap realised Rs. 300 only. Plant costing Rs.
3,000 was used for 'another contract on 31.12.2011.

Plant is to be depreciated @"10% p.a.; Materials in

hand on 31.12.2011 ~ Rs. 17,500; Cash received from
the contractee - Rs. 3,06,000; Cost of work yet to be
certified — Rs. 30, 000

Preparec a Contract Account showing therein the.

amount of profit or loss to be transferred to Profit &
Loss A/c.
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